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. Pemmutu jenagmnne

1 10
() Vo—2+|e—2/=4  (6) Vi—16+va+16=

\/a:—16;

. Pemuru jegnauune
(a) V2r —4—Vr+5=1; (6) V2xr — 1+ Vo —2=+ax+1;
(B) V322 +5x —8 — /322 +5x — 1= 1.

. Pemuru jegnauune

() VI—1+Vae+24—10/z —1=5  (6) Ve —24+v20 —b+V/x+2+322 -5 =TV2.
. Pemuru jegnauune

(@) Vo+1-Va—-1=2  (6) Yo+ o+ o —Vo=12

(8) /(O T 2P+ 43/ -2 = 5¢EB % (1) @17 - S+ 1) = ;e/ﬁ =

. Pemmmutu nejennaunne

PR —)
(@) VAtdr—22<2 (6)VAtdz—aZ>-2 () ">

>
224+ 2r+3

. Pemmnru Hejepnadnne

(a) Va2 —br+4 <z —3; 6) V—a2?+x+6+2—1>0; (B) V2r —3 —Vr—5<4.

. Pemmutu nejennaunne

2 —dr+7 vV2—xz+x—3
\|—————— <2 .

. Pemmutu cucreme jennaunna

(a) { /Y +yvx = 30, () { T+ /Ty +y = 14, (x) { /Y + Yz =6,

VI — VT =1; 22 + 2y + y? = 84; 2%y + y*x = 20.




